YEAR 56                 31st March 2020
	LO 
	To notice the link between fractions of quantities and the language of ratio.
	

	


	Good
	I can use the language of ratio to describe groups of objects.
	
	

	Better
	I can compare fractions with the language of ratio and identify errors.
	
	

	Best
	I can compare the answers when asked to find a ratio, or a fraction of a quantity.
	
	

	I worked independently
	I worked with a partner
	I worked with an adult.



There is a link between ratios and fractions, but you have to be careful. 


With this group, you can say, “For every 4 triangles, there are 3 ovals.” This is the same as a ratio. You are comparing the triangles to the ovals.
You can also write 4 out of 7 of the shapes are triangles. This is more like a fraction, which you can write like this 4/7 of the shapes are triangles. With the fraction you are comparing the triangles to how many shapes there are in total.
For all of the challenges below, it would help you to represent the problem in some way using concrete resources: you could use tiddlywinks, bits of pasta, coins, etc. 
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CHALLENGE 1
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CHALLENGE 2
[image: ]                    [image: ]
[bookmark: _GoBack]Is there are way to argue that each one is the odd one out?

CHALLENGE 3
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Complete the sentences to compare the apples and oranges.

For every 6 apples there are ......oranges.

0

Sof the fruit are apples,g of the fru are oranges.
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Complete the sentences to compare the sweets.

”./,’ The number of pink sweets is

fimes the number of green sweets.

‘;;?ff The number of pink sweetsis_____

¢ times the number of purple sweets.

Ot the sweets are pink, Do the swees are green
o u]

For every 3 purple sweets there are....... pink sweets.
For every 1 purple sweets there are ....... pink sweets.
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Fabio plants flowers in a flower bed.
For every 2 red roses he plants 5 white
roses.

He says,

2 of the roses are red

Is Fabio correct?
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Which is the odd one out?
Explain your answer.
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There are some red and green cubes ina
bag. g of the cubes are red.

True or False?

+ For every 2 red cubes there are 3
green cubes.

+ For every 2 red cubes there are 5
green cubes.

+ For every 3 green cubes there are 2
red cubes.

* Forevery 3 green cubes there are 5
red cubes,

Explain your answers.




